3426 - 03 OLEJO DINING BENCH

ASSEMBLY INSTRUCTIONS

@

SEAT FRAME x 1PC

3

BENCH LEGS ( CENTER) x 1PC

@

BENCH LEGS ( SIDE ) x 2PCS

CENTER STRETCHERS x 1 PC

@13 x M6 x 40 mm

11 pcs
1.2 x M6 x @11 mm

©

2 X M6 x @19 mm

o

s

(@\\\

@13 x M6 x 30 mm

3 pcs

E

glpc

M4 x 60 mm




# Do not fully tighten all the bolts for this step.

@13 X M6 X 40 mm

&

1.2 x M6 x @11 mm

8 pcs

2 X M6 x 319 mm

M4 x 60 mm




# Fully tighten all the bolts for this step.







	Ai - Woody - Olejo Model (1)
	Ai - Woody - Olejo Model (1)
	Ai - Woody - Olejo Model (1)
	Ai - Woody - Olejo Model (1)

